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<5EOF56, <76?5><F5 <7 =57> M?5<5=FO ?<F4=<O.
�E?>?L7G=F5 M?5<5=F ?<F4=<O 6 F5G5=<5 D5>><5=4>64==>7> 6D5<5=<, 
>>F>D>5 G>474=> =4 =5<.
�D< ?>?444=<< 6 7?474 M?5>FD>?<F4 <7 M?5<5=F4 ?<F4=<O =5<54?5==> 
?D><>=F5 <E 5>?LL<< >>?<G5EF6>< G<EF>= 6>4O. �5<54?5==> >5D4F<F5EL > 
E6>5<G ?5G4M5<G 6D4GG.
%D4=<F5 M?5<5=FO ?<F4=<O 6 <5EF4E, =54>EFG?=OE 4?O 45F5= < <?445=F56.

�5M<5 <5DO ?D54>EF>D>6=>EF<
� �5 E7<54=F5 <4=65FG E GE<?<5< < =5 ?5D57<54=F5 6>74GE>6>4=GN FDG5>G.
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1. �5M<5 E6545=<O > ?D<5>D5
�><??5>F ?>EF46><:
-?5>FD>==O= 5?>>, <4=65F4 >><?D5EE<>==4O HEM-FL31, 444?F5D 

?5D5<5==>7> F>>4 HHP-CM01, DG>>6>4EF6> ?> M>E??G4F4F<<, G5E>? 
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3275323-4A

�4F4 6O?GE>4: ��.��.����

�5 4>?GE>4=F5 
?>6D5645=<O L=GD4.

�5 ?><4=F5 57>.

�5 D475<D4=F5 57>. �5 E7<54=F5 < =5 FO=<F5 57> E GE<?<5<.
�5 E>DGG<64=F5 57>. �5 746O7O64=F5 57> 6 G75? 6> 6D5<O 

<E?>?L7>64=<O.
�5 74M5<?O=F5 57>. �5 EF46LF5 =4 =57> FO65?O5 ?D54<5FO.

A. �<E??5=
B. �=>?>4 START/STOP 

(���.'����/�/��.'����)

C. �=>?>4 ?4<OF<

D. �FE5> 4?O M?5<5=F>6 ?<F4=<O
E. �=574> 444?F5D4 ?5D5<5==>7> F>>4 

F. �>74GL=>5 7=574>

J. �<>F>7D4<<4 ?4<OF<
K. %<EF>?<G5E>>5 4DF5D<4?L=>5 

446?5=<5 (SYS)

L. �<4EF>?<G5E>>5 4DF5D<4?L=>5 

446?5=<5 (DIA)

M. �=4<>4F>D =<7>>7> GD>6=O 74DO44 

M?5<5=F>6 ?<F4=<O
N. �=4<>4F>D ?D46<?L=>= D<>E4F<< 

<4=65FO
O. �=4<>4F>D E5D4F55<5=<O

(<<745F ?D< <7<5D5=<<)

P. �=4<>4F>D 4D<F<<< 

Q. �=4<>4F>D GD>6=O 4DF5D<4?L=>7> 

446?5=<O
R. �=4G5=<5 G4EF>FO ?G?LE4 

(PULSE) / =><5D OG5=>< ?4<OF<
S. �=4<>4F>D 45>><?D5EE<<

' 6D4G4 �><4
%<EF>?<G5E>>5 4DF5D<4?L=>5 

446?5=<5 g140 << DF. EF. g135 << DF. EF.

�<4EF>?<G5E>>5 
4DF5D<4?L=>5 446?5=<5 g90 << DF. EF. g85 << DF. EF.

D

F

E

A

C

B

G

I H

G. �4=65F4 (4?O >>DG6=>EF< DG>< 

22-42 E<)

H. �>74GL=O= LF5>5D
I. �>74GE>6>4=4O FDG5>4

K

L

M

J

O

Q

P

S

N R

�>D<4?L=>5 E5D4F55<5=<5

�5D57G?OD=>5 E5D4F55<5=<5
�?<==O=�>D>F><=

�DF5D<4?L=>5 
446?5=<5

�DF5D<4?L=>5 
446?5=<5

�=4G5=<5 
G4EF>FO ?G?LE4

�=4G5=<5 
G4EF>FO ?G?LE4

1-2 E<

�47DG7<F5 < GEF4=>6<F5 =4 <>5<?L=>5 GEFD>=EF6> 
55E??4F=>5 ?D<?>65=<5 OMRON connect. -F> 
?D<?>65=<5 4>EFG?=> 6 App Store < Google Play.

�F>D>=F5 ?D<?>65=<5 =4 <>5<?L=>< GEFD>=EF65 < 

E?54G=F5 <=EFDG>F<O< ?> =4EFD>=>5.

�E?< ?D<?>65=<5 OMRON connect G65 GEF4=>6?5=>, 

?5D5=4<F5: �5=N > 'EFD>=EF64 > �>546<FL 
GEFD>=EF6>

�=4<>4F>D ?D46<?L=>= 
D<>E4F<< <4=65FO

��'��� ����'������ �/�'%� ��&���

�E?< E<EF>?<G5E>>5 446?5=<5 6OL5 210 << DF. EF.
�>E?5 F>7>, >4> =4G4?>EL 46F><4F<G5E>>5 =4?>?=5=<5 <4=65FO 
6>74GE><, =46<<F5 < G45D6<64=F5 >=>?>G START/STOP 
(���.'����/�/��.'����) 4> F5E ?>D, ?>>4 ?D<5>D =5 ?>4=<<5F 
446?5=<5 4> 7=4G5=<O, ?D56OL4NM57> >6<445<>5 E<EF>?<G5E>>5 
446?5=<5 =4 30440 << DF. EF.
�D<<5G4=<O:
� &>=><5FD =5 =47=5F45F 446?5=<5 E6OL5 299 << DF. EF.
� �5 =47=5F4=F5 5>?LL55 446?5=<5, G5< FD55G5FEO.

'E?>6=>5 
>5>7=4G5=<5 
>L<5><

�D<G<=4 %?>E>5 D5L5=<O

�5=4DG65= =5D57G?OD=O= 
?G?LE.

$4EEF57=<F5 74EF56>G < E=<<<F5 
<4=65FG. �>4>64<F5 233 <<=GFO 
< 6O?>?=<F5 5M5 >4=> 
<7<5D5=<5. �>6F>D<F5 L47<, 
G>474==O5 6 D4745?5 3.3. �D< 
?>6F>D=>< 6>7=<>=>65=<< MF>= 
>L<5>< >5D4F<F5EL > ?5G4M5<G 
6D4GG.

�4=65F4 74>D5??5=4 
=54>EF4F>G=> ??>F=>.

�4?>6<F5 <4=65FG ??>F=55.
�5D4F<F5EL > D4745?G 3.1.

�<7><= GD>65=L 74DO44 
M?5<5=F>6 ?<F4=<O.

$5>><5=4G5FEO 74<5=OFL 
M?5<5=FO ?<F4=<O 74D4=55.
�5D4F<F5EL > D4745?G 2.1.

-?5<5=FO ?<F4=<O 
D47DO65=O.

�5<54?5==> 74<5=<F5 4 
M?5<5=F4 ?<F4=<O.
�5D4F<F5EL > D4745?G 2.1.

�>74GL=O= LF5>5D =5 
?>4E>54<=5=.

�?>F=> 6EF46LF5 LF5>5D.
�5D4F<F5EL > D4745?G 3.1.

�4=65F4 74>D5??5=4 
=54>EF4F>G=> ??>F=>.

�4?>6<F5 <4=65FG ??>F=55.
�5D4F<F5EL > D4745?G 3.1.

'F5G>4 6>74GE4 <7 <4=65FO.
�4<5=<F5 <4=65FG =>6>=.
�5D4F<F5EL > D4745?G 5.3.

�6<65=<5 6> 6D5<O 
<7<5D5=<O; <4=65F4 
=54>EF4F>G=> =4>4G5=4.

�>6F>D<F5 <7<5D5=<5. �5 
46<74=F5EL < =5 D477>64D<64=F5 
6> 6D5<O <7<5D5=<O.
�5D4F<F5EL > D4745?G 3.3.

�E?< E<<6>? «E2» ?>O6?O5FEO 
=5>4=>>D4F=>, E?54G5F 6DGG=GN 
=47=5F4FL 6>74GE 6 <4=65FG 4> 
F5E ?>D, ?>>4 446?5=<5 =5 
?>4=<<5FEO =4 30440 << DF. EF. 
6OL5 ?D54O4GM57> 7=4G5=<O 
<7<5D5=<O.
�5D4F<F5EL > D4745?G 3.3.

�4=65F4 5O?4 =4>4G4=4 E 
?D56OL5=<5< 
<4>E<<4?L=> 4>?GEF<<>7> 
446?5=<O, GF> 6O764?> 
46F><4F<G5E><= 6O?GE> 
6>74GE4 <7 <4=65FO.

�5 ?D<>4E4=F5EL > <4=65F5 </<?< 
=5 ?5D57<54=F5 6>74GE>6>4=GN 
FDG5>G 6> 6D5<O <7<5D5=<O. �5 
?5D5>4G<64=F5 <4=65FG 5>?LL5 
=5>5E>4<<>7> 7=4G5=<O.
�5D4F<F5EL > D4745?G 3.3.

�6<65=<5 6> 6D5<O 
<7<5D5=<O.

�>6F>D<F5 <7<5D5=<5. �5 
46<74=F5EL < =5 D477>64D<64=F5 
6> 6D5<O <7<5D5=<O.
�5D4F<F5EL > D4745?G 3.3.�6<65=<5 6> 6D5<O 

<7<5D5=<O.

�4=65F5 <5L45F >45644 =4 
??5G5.

%=<<<F5 >4564G, <5L4NMGN 
<4=65F5.
�5D4F<F5EL > D4745?G 3.1.

�L<5>4 ?D<5>D4.
%6O6<F5EL E F5=FD>< 
F5E=<G5E>>7> >5E?G6<64=<O 
<745?<= F>D7>6>= <4D>< OMRON.

�D>5?5<4 �D<G<=4 %?>E>5 D5L5=<O

$57G?LF4F 
<7<5D5=<O 
E?<L>>< 6OE>><= 
(<?< =<7><=).

�4=65F4 74>D5??5=4 
=54>EF4F>G=> ??>F=>.

�4?>6<F5 <4=65FG 
??>F=55. 
�5D4F<F5EL > D4745?G 3.1.

�6<65=<5 <?< D477>6>D 6> 
6D5<O <7<5D5=<O.

�5 46<74=F5EL < =5 
D477>64D<64=F5 6> 6D5<O 
<7<5D5=<O.
�5D4F<F5EL > D4745?G 3.3.

�4=65F5 <5L45F >45644 
=4 ??5G5.

%=<<<F5 >4564G, 
<5L4NMGN <4=65F5.
�5D4F<F5EL > D4745?G 3.1.

�46?5=<5 6 <4=65F5 
=5 ?>6OL45FEO.

�>74GE>6>4=4O FDG5>4 =5 
??>F=> ?>4E>54<=5=4 > 
6>74GL=><G 7=574G.

'554<F5EL 6 F><, GF> 
6>74GE>6>4=4O FDG5>4 
=4456=> ?>4E>54<=5=4 > 
M?5>FD>==><G 5?>>G. 
�5D4F<F5EL > D4745?G 3.1.

'F5G>4 6>74GE4 <7 
<4=65FO.

�4<5=<F5 <4=65FG =4 
=>6GN. 
�5D4F<F5EL > D4745?G 5.3.

�4=65F4 E4G645FEO 
E?<L>>< 5OEFD>.

�4=65F4 =4?>65=4 =4 
??5G> E?<L>>< E6>5>4=>.

�4?>6<F5 <4=65FG 
?D46<?L=>, GF>5O >=4 
??>F=> >5?574?4 DG>G. 
�5D4F<F5EL > D4745?G 3.1.

�5 G445FEO 
6O?>?=<FL 
<7<5D5=<5, <?< 
D57G?LF4FO E?<L>>< 
=<7><5 <?< E?<L>>< 
6OE>><5.

�4=65F4 =54>EF4F>G=> 
=4>4G5=4.

�>4=<<<F5 446?5=<5 6 
<4=65F5 =4 30340 << DF. EF. 
6OL5 ?D54O4GM57> 
7=4G5=<O <7<5D5=<O.
�5D4F<F5EL > D4745?G 3.3.

�D< =464F<< =4 
>=>?>< =<G57> =5 
?D><EE>4<F.

-?5<5=FO ?<F4=<O 
D47DO65=O.

�4<5=<F5 4 M?5<5=F4 
?<F4=<O =>6O<<.
�5D4F<F5EL > D4745?G 2.1.

-?5<5=FO ?<F4=<O 
GEF4=>6?5=O =5?D46<?L=>.

�EF46LF5 M?5<5=FO 
?<F4=<O, E>5?N44O 
?D46<?L=GN ?>?OD=>EFL 
(+/-).
�5D4F<F5EL > D4745?G 2.1.

�DG7<5 
=5<E?D46=>EF<.

� �46<<F5 >=>?>G START/STOP 
(���.'����/�/��.'����) < ?>6F>D<F5 
<7<5D5=<5.

� �4<5=<F5 M?5<5=FO ?<F4=<O =>6O<<.
�E?< ?D>5?5<4 =5 5O?4 GEFD4=5=4, >5D4F<F5EL > 
�4L5<G 4<EFD<5LNF>DG ?D>4G>F<< >><?4=<< OMRON.



5. 'E>4 < ED4=5=<5
5.1 &5E=<G5E>>5 >5E?G6<64=<5

%>5?N44=F5 E?54GNM<5 ?D46<?4 4?O 74M<FO ?D<5>D4 >F 
?>6D5645=<=:

�%D4=<F5 ?D<5>D < 57> >><?>=5=FO 6 G<EF>< < 557>?4E=>< 

<5EF5.

��5 <E?>?L7G=F5 45D47<6=O5 <?< ?57>> <E?4DONM<5EO 

G<EFOM<5 ED54EF64.

��5 <>=F5 ?D<5>D < >4><5-?<5> 57> >><?>=5=FO, < =5 

?>7DG64=F5 <E 6 6>4G.
��5 <E?>?L7G=F5 55=7<=, D47546<F5?< < D4EF6>D<F5?< 4?O 

>G<EF>< ?D<5>D4.

��E?>?L7G=F5 <O7>GN < EGEGN F>4=L <?< <O7>GN < 

E<>G5==GN =5=FD4?L=O< <O?>< F>4=L 4?O >G<EF>< 

?D<5>D4 < <4=65FO.

��=5E5=<5 6 ?D<5>D <7<5=5=<= <?< <>4<D<>4F<=, =5 

>4>5D5==OE ?D><76>4<F5?5<, ?D<6545F > 4==G?<D>64=<N 

74D4=F<<. �5 D475<D4=F5 ?D<5>D <?< 57> >><?>=5=FO < =5 

?OF4=F5EL >EGM5EF6<FL <E D5<>=F. 
��5E?G6<64=<5: MF>F <7<5D<F5?L =5 FD55G5F 
E?5F<4?L=>7> >5E?G6<64=<O.

�4?<5D>6>4 < >5E?G6<64=<5
�&>G=>EFL 44==>7> ?D<5>D4 4?O <7<5D5=<O 4DF5D<4?L=>7> 

446?5=<O 5O?4 FM4F5?L=> ?D>65D5=4 < E>ED4=O5FEO 6 
F5G5=<5 4?<F5?L=>7> 6D5<5=<.

�$5>><5=4G5FEO ?D>65DOFL F>G=>EFL <7<5D5=<O < 

?D46<?L=>EFL D45>FO ?D<5>D4 >464O5 2 7>44. %6O6<F5EL 
E G?>?=><>G5==O< F5E=<G5E><< F5=FD>< <?< 

4<EFD<5LNF>D>< OMRON. 

5.2 %D4=5=<5
%D4=<F5 ?D<5>D G5E?5, >>744 >= =5 <E?>?L7G5FEO.

1. �FE>54<=<F5 6>74GL=O= LF5>5D >F 6>74GL=>7> 7=5744.

2. �>>GD4F=> E?>6<F5 6>74GE>6>4=GN 

FDG5>G 6=GFD< <4=65FO.

�D<<5G4=<5: �5 ?5D57<54=F5 < =5 <=<F5 
6>74GE>6>4=GN FDG5>G E?<L>>< 
E<?L=>.

3. �><5EF<F5 ?D<5>D < <4=65FG 6 G5E>?.

�D<5>D 74?D5M45FEO ED4=<FL 6 E?54GNM<E 
GE?>6<OE:
� 5E?< =4 ?D<5>D ?>?4?4 6?474 <?< >= =4<>>;
� 5E?< <5EF> ED4=5=<O ?>465D65=> 6>745=EF6<N 

6OE>><E F5<?5D4FGD, 6?46=>EF<, 45=EF6<N 

?DO<OE E>?=5G=OE ?GG5=, ?O?< <?< 54><E 
?4D>6, F4><E >4> E?>D=4O <765EFL;

� 5E?< <5EF> ED4=5=<O ?>465D65=> 45=EF6<N 

6<5D4F<<, G44D>6 <?< O6?O5FEO =4>?>==>= ?>65DE=>EFLN.

5.3 �?<E4=<5 ?D<=44?56=>EF5=, <54<F<=E><E 
<745?<= <?< <745?<=, =5 O6?ONM<EEO 
<54<F<=E><<<, => ?D54GE<>FD5==OE 4?O 
<E?>?L7>64=<O 6 >><5<=4F<< E <7<5D<F5?5< 
4DF5D<4?L=>7> 446?5=<O < G4EF>FO ?G?LE4 
46F><4F<G5E><< OMRON M2 Comfort (ALRU)

6. &5E=<G5E><5 E4D4>F5D<EF<><

�D<<5G4=<O:
� � E>45 >?<=<G5E>>7> 64?<44F<>==>7> <EE?54>64=<O 4?O >?D545?5=<O 
4<4EF>?<G5E>>7> 4DF5D<4?L=>7> 446?5=<O 6 D475 5 ?D<=<<4?> GG4EF<5 
85 G5?>65>.

� �4==>5 GEFD>=EF6> ?D>L?> >?<=<G5E><5 <EE?54>64=<O E>7?4E=> 
FD55>64=<O< ISO 81060-2:2013 (<E>?NG4O 55D5<5==OE 65=M<= < 
?4F<5=F>6 E ?D5M>?4<?E<5=).

� -F>F ?D<5>D <>6=> <E?>?L7>64FL 4?O =5?D5DO6=>= D45>FO.

� �4==O= ?D<5>D 4?O <7<5D5=<O 4DF5D<4?L=>7> 446?5=<O E?D>5>F<D>64= 6 
E>>F65FEF6<< E 56D>?5=E><< EF4=44DF>< EN1060 «�5<=647<6=O5 
ED<7<><4=><5FDO», G4EFL 1 «�5M<5 FD55>64=<O» < G4EFL 3 
«�>?>?=<F5?L=O5 FD55>64=<O 4?O M?5>FD><5E4=<G5E><E E<EF5< <7<5D5=<O 
4DF5D<4?L=>7> 446?5=<O».

� �4==>5 <745?<5 OMRON <77>F>6?5=> 6 GE?>6<OE ?D<<5=5=<O E<EF5<O 
EFD>7>7> >>=FD>?O >4G5EF64 >><?4=<< OMRON HEALTHCARE Co., Ltd., 
/?>=<O. �4FG<> 446?5=<O 4 7?46=O= >><?>=5=F ?D<5>D>6 4?O <7<5D5=<O 
4DF5D<4?L=>7> 446?5=<O >><?4=<< OMRON 4 <77>F46?<645FEO 6 /?>=<<.

� %>>5M4=F5 G?>?=><>G5==><G ?D54EF46<F5?N ?D><76>4<F5?O >5> 6E5E 
E5DL57=OE ?D><EL5EF6<OE, E6O74==OE E MF<< <745?<5<.

�5D5G5=L ?D<<5=O5<OE ?D><76>4<F5?5< 
=4F<>=4?L=OE EF4=44DF>6

�4F4 ?D><76>4EF64 74L<DD>64=4 6 E5D<==>< =><5D5, >>F>DO= =4E>4<FEO =4 

>>D?GE5 ?D<5>D4 </<?< F>64D=>= G?4>>6>5: ?5D6O5 4 F<DDO >5>7=4G4NF 7>4 

?D><76>4EF64, E?54GNM<5 2 F<DDO 3 <5EOF ?D><76>4EF64. 

App Store < ?>7>F<? App Store O6?ONFEO 7=4>4<< >5E?G6<64=<O Apple Inc., 

74D57<EFD<D>64==O<< 6 %,� < 4DG7<E EFD4=4E.
Google Play < ?>7>F<? Google Play O6?ONFEO F>64D=O<< 7=4>4<< Google LLC.

7. -?5>FD><47=<F=4O E>6<5EF<<>EFL

&45?<F4 1. �>D<O < E>>F65FEF6<5 ���''���/

&45?<F4 2. '$���� &�%&� �� '%&��'���%&,

&45?<F4 3. %4D4>F5D<EF<>< F5EF4 '%&��'���%&� ��$&� ��$�'%� > 
55E?D>6>4=><G GEFD>=EF6G D44<>G4EF>F=>= E6O7<

� F5EFO -�% 6>?NG45FEO 444?F5D ?5D5<5==>7> F>>4, ?>EF46?O5<O= E MF<< 
<745?<5<.

8. �5>>F>D4O ?>?57=4O <=D>D<4F<O >5 4DF5D<4?L=>< 446?5=<<
'F> F4>>5 4DF5D<4?L=>5 446?5=<5?

�DF5D<4?L=>5 446?5=<5 4 MF> ?>>474F5?L 446?5=<O ?>F>>4 >D>6< =4 EF5=>< 
4DF5D<=. �DF5D<4?L=>5 446?5=<5 ?>EF>O==> <5=O5FEO 6 F<>?5 E>>D4M5=<O 
E5D4F4.
%4<>5 6OE>>>5 446?5=<5 =4 ?D>FO65=<< E5D45G=>7> F<>?4 =47O645FEO 
«E<EF>?<G5E><< 4DF5D<4?L=O< 446?5=<5<»; E4<>5 =<7>>5 4 
«4<4EF>?<G5E><< 4DF5D<4?L=O< 446?5=<5<». �?O >F5=>< E>EF>O=<O 
4DF5D<4?L=>7> 446?5=<O ?4F<5=F4 6D4GG =5>5E>4<<O >54 7=4G5=<O: 
E<EF>?<G5E>>5 < 4<4EF>?<G5E>>5.

'F> F4>>5 4D<F<<O?

�D<F<<O 4 MF> E>EF>O=<5, >>744 D<F< E5D4F55<5=<O =4DGL5= <7-74 E5>56 6 
5<>M?5>FD<G5E>>= E<EF5<5, G?D46?ONM5= E5D4F55<5=<5<. �5 F<?<G=O<< 
?D<7=4>4<< O6?ONFEO 6O?444NM<5 E>>D4M5=<O E5D4F4, ?D56456D5<5==O5 
E>>D4M5=<O, =5>5OG=> G4EFO= (F4E<>4D4<O) <?< D54><= (5D44<>4D4<O) ?G?LE.

�>G5<G E>D>L> <<5FL 6>7<>6=>EFL <7<5DOFL 

4DF5D<4?L=>5 446?5=<5 4><4?

�4 4DF5D<4?L=>5 446?5=<5 <>7GF 6?<OFL 
<=>7<5 D4>F>DO, F4><5 >4> D<7<G5E>4O 
4>F<6=>EFL, 55E?>>>=EF6> <?< 6D5<O 
EGF>>. �?O ?>EF4=>6>< F>G=>7> 4<47=>74 
>4=>7> <7<5D5=<O <>65F 5OFL 
=54>EF4F>G=>.
�?O ?>?GG5=<O F>G=OE 44==OE ?GGL5 
6E57> <7<5DOFL 4DF5D<4?L=>5 446?5=<5 
5654=56=> 6 >4=> < F> 65 6D5<O. �5OG=> 
GFD>< 4DF5D<4?L=>5 446?5=<5 =<65, 4 6> 6F>D>= ?>?>6<=5 4=O >=> 
?>6OL45FEO. �46?5=<5 =<65 ?5F>< < 6OL5 7<<>=.

�4> 7<?5DF5=7<O E6O74=4 E <=EG?LF><?

�<?5DF5=7<O (6OE>>>5 4DF5D<4?L=>5 446?5=<5) ?D54EF46?O5F E>5>= >E=>6=>= 
D4>F>D D<E>4 <=EG?LF4.
'EF4=>6?5=>, GF> ?D< MDD5>F<6=>< ?5G5=<< ?4F<5=F>6, EFD444NM<E 
4DF5D<4?L=>= 7<?5DF5=7<5=, G445FEO ?D54>F6D4F<FL 1 <7 4 75<>DD47<G5E><E 
<=EG?LF>6 (=5FD46<4F<G5E>>5 6=GFD<<>77>6>5 >D>6><7?<O=<5).
� G>474=<OE ?> 7<?5DF5=7<<, ?><<<> <7<5D5=<= 6 >45<=5F5 6D4G4, 
D5>><5=4G5FEO <7<5DOFL 4DF5D<4?L=>5 446?5=<5 4><4, ?>E>>?L>G MF> 
E?>E>5EF6G5F 5>?55 MDD5>F<6=><G ?5G5=<N.
 

%EO?>< =4 <54<F<=E><5 >FG5FO, G?><O=GFO5 6OL5, 4>EFG?=O ?> 74?D>EG.

%45?4=> 6> �L5F=4<5

'=<65DE4?L=4O <4=65F4 �44?F5D ?5D5<5==>7> F>>4 
�>DG6=>EFL ??5G4

22-42 E<
HHP-CM01

HEM-FL31

�4<<5=>64=<5 �7<5D<F5?L 4DF5D<4?L=>7> 446?5=<O < G4EF>FO 
?G?LE4 46F><4F<G5E><= OMRON 

�>45?L M2 Comfort (ALRU)

�<E??5= &<DD>6>= ��-4<E??5=
�5F>4 <7<5D5=<O �EF<??><5FD<G5E><= <5F>4
�<4?47>= 446?5=<O 6 
<4=65F5

�46?5=<5: >F 0 4> 299 << DF. EF.

�<4?47>= <7<5D5=<= 
446?5=<O 6>74GE4 6 
<4=65F5

>F 20 4> 280 <<. DF. EF.
'4EF>F4 ?G?LE4: >F 40 4> 180 G44D>6/<<=.

�D545?O 4>?GE>45<>= 
?>7D5L=>EF< ?D<5>D4 
?D< <7<5D5=<<

�46?5=<5: ± 3 << DF. EF.
'4EF>F4 ?G?LE4: ±5% 

�><?D5EE<O �6F><4F<G5E>4O, E ?><>MLN 6>74GL=>7> 
M?5>FD<G5E>>7> >><?D5EE>D4, G?D46?O5<>7> 
E<EF5<>= =5D>D<4?L=>= ?>7<><

�5>><?D5EE<O �?4?4= 46F><4F<G5E>>7> E5D>E4 446?5=<O
$56<< D45>FO �>EF>O==4O D45>F4
�4<OFL 60 <7<5D5=<= 

�4D4<5FDO <EF>G=<>4 
?<F4=<O

�>EF>O==O= F>>: 6 �, 4 �F

�EF>G=<> ?<F4=<O 4 M?5<5=F4 ?<F4=<O «AA» 1,5 � <?< 444?F5D 
?5D5<5==>7> F>>4
(�%��: 1003240 � ?5D5<5==>7> F>>4, 50360 �F, 
0,1230,065 �)

%D>> E?G65O -?5>FD>==O= 5?>>: 5 ?5F
�4=65F4: 5 ?5F
�44?F5D ?5D5<5==>7> F>>4: 5 ?5F

%D>> E?G65O 
M?5<5=F>6 ?<F4=<O

�D<5?<7<F5?L=> 1000 <7<5D5=<= (?D< <E?>?L7>64=<<  
=>6OE  M5?>G=OE  M?5<5=F>6  ?<F4=<O, 44==O5 
?>?GG5=O =4 >E=>64=<< F5EF<D>64=<O OMRON)

$45>G4O G4EFL 
4??4D4F4 &<? BF (<4=65F4)

�4M<F4 >F ?>D465=<O 
M?5>FD<G5E><< F>>><

�54<F<=E>>5 >5>DG4>64=<5 E 6=GFD5==<< 
<EF>G=<>>< ?<F4=<O (?D< D45>F5 >F M?5<5=F4 
?<F4=<O)
�?4EE II (?D< D45>F5 >F 444?F5D4 ?5D5<5==>7> F>>4)

�?4EE<D<>4F<O 
EF5?5=< 74M<FO 
>5>?>G>< 

-?5>FD>==O= 5?>>: IP20                                                                               
�?4EE<D<>4F<O EF5?5=< 74M<FO >5>?>G>< 
E>>F65FEF6G5F EF4=44DFG IEC 60529. -F>F ?D<5>D 
74M<M5= >F F65D4OE ?>EF>D>==<E >5N5>F>6 
4<4<5FD>< 12,5 << (=4?D<<5D, ?4?5F) <?< 5>?LL5.

�44?F5D ?5D5<5==>7> F>>4: IP21
�?4EE<D<>4F<O EF5?5=< 74M<FO >5>?>G>< 
E>>F65FEF6G5F EF4=44DFG IEC 60529. -F>F ?D<5>D 
74M<M5= >F F65D4OE ?>EF>D>==<E >5N5>F>6 
4<4<5FD>< 12,5 << (=4?D<<5D, ?4?5F) <?< 5>?LL5. 
-F>F ?D<5>D 74M<M5= >F ?D>=<>=>65=<O 65DF<>4?L=> 
?444NM<E >4?5?L 6>4O.

'E?>6<O M>E??G4F4F<<
&5<?5D4FGD4/
�F=>E<F5?L=4O 
6?46=>EFL/
4F<>ED5D=>5 
446?5=<5

>F +10 4> +40°C

>F 15 4> 90% (557 >>=45=E4F4)

>F 800 4> 1060 7�4
'E?>6<O ED4=5=<O/
FD4=E?>DF<D>64=<O
&5<?5D4FGD4/
�F=>E<F5?L=4O 
6?46=>EFL

>F -20 4> +60°C

>F 10 4> 90% (557 >>=45=E4F4)

�4EE4 -?5>FD>==O= 5?>>: 255±26 7 557 M?5<5=F>6 ?<F4=<O
�4=65F4: 161±17 7
�44?F5D ?5D5<5==>7> F>>4: 47,5±5 7
'5E>? 4?O ED4=5=<O ?D<5>D4: 22±3 7

�454D<F=O5 D47<5DO -?5>FD>==O= 5?>>: 103±10 x 80±10 x 129±10 << 
(L × 6 × 7)
�4=65F4: 532±5 E 15±3 E 171±1 << (L × 6 × 7), 
�?<=4 6>74GE>6>4=>= FDG5><: 750±38 <<
�44?F5D ?5D5<5==>7> F>>4: 21±2 × 54,2±3 × 64,5±4 << 

(L × 6 × 7)
�?<=4 E5F56>7> L=GD4 444?F5D4 ?5D5<5==>7> F>>4: 
1500±40 <<
'5E>? 4?O ED4=5=<O ?D<5>D4: 169±4 × 128±3 × 
104±3 << (L × 6 × 7)

�>DG6=>EFL <4=65FO 22442 E< 

�4F5D<4? 
<4=65FO/FDG5><

�5=?>=, ?>?<MEF5D, ?>?<6<=<?E?>D<4

�><??5>F ?>EF46>< -?5>FD>==O= 5?>>, <4=65F4 >><?D5EE<>==4O 
HEM-FL31, 444?F5D ?5D5<5==>7> F>>4 HHP-CM01, 
DG>>6>4EF6> ?> M>E??G4F4F<<, G5E>? 4?O ED4=5=<O 
?D<5>D4, >><??5>F M?5<5=F>6 ?<F4=<O, 6GD=4? 4?O 
74?<E< 4DF5D<4?L=>7> 446?5=<O, 74D4=F<==O= F4?>=

EN ISO 15223-1:2016

EN 1060-1:1995+A2:2009

EN 1060-3:1997+A2:2009

EN 60601-1:2006+A1:2013

EN 60601-1-2:2015

EN 60601-1-6:2010+A1:2015

EN 60601-1-11:2015

EN 80601-2-30:2010+A1:2015

EN 62304:2006+A1:2015

EN 62366-1:2015

EN ISO 10993-1:2009/AC:2010

EN ISO 10993-5:2009

EN ISO 10993-10:2013

EN ISO 14971:2012

EN ISO 81060-2:2014

EN ISO 13485:2016

EN 50581:2012

EN 1041:2008+A1:2013

�?<E4=<5 E<<6>?>6
$45>G4O G4EFL F<?4 BF

%F5?5=L 74M<FO >F ?>D465=<O 

M?5>FD<G5E><< F>>>< (F>>< GF5G><)

�745?<5 >?4EE4 II �4M<F4 >F ?>D465=<O 

M?5>FD<G5E><< F>>><

%F5?5=L 74M<FO, >55E?5G<645<4O 

>5>?>G>4<<, E>7?4E=> IEC 60529

�=4> E>>F65FEF6<O 4<D5>F<65 �%

�=4> GF65D645=<O F<?4 ED54EF64 

<7<5D5=<O

�=4> >5D4M5=<O ?D>4G>F<< =4 DO=>5 

&4<>65==>7> E>N74

%5D<==O= =><5D

�>4 (=><5D) ?4DF<<

�><5D 6 E?D46>G=>< >4F4?>75

&5<?5D4FGD=O= 4<4?47>=

�<4?47>= 6?46=>EF<

�7D4=<G5=<5 4F<>ED5D=>7> 446?5=<O

�>?OD=>EFL D47N5<4 444?F5D4 

�?O <E?>?L7>64=<O F>?L>> 6=GFD< 

?><5M5=<= 

�4D57<EFD<D>64==4O F5E=>?>7<O 

<7<5D5=<O 4DF5D<4?L=>7> 446?5=<O 

OMRON

�4=65FO E>6<5EF<<O5 E GEFD>=EF6><

�4D>5D 4DF5D<<

�F<5F>4 ?D><76>4<F5?O > >>=FD>?5 

>4G5EF64

�5 E>45D6<F =4FGD4?L=O= ?4F5>E

�5D4F<F5EL > 44==><G DG>>6>4EF6G ?> 

M>E??G4F4F<<.

� F5?OE >55E?5G5=<O 557>?4E=>EF< 

EFD>7> E?54G=F5 G>474=<O< 6 44==>< 

DG>>6>4EF65 ?> M>E??G4F4F<<.

�>EF>O==O= F>>

�5D5<5==O= F>>

&5E=>?>7<O >><?4=<< OMRON Healthcare 

6 /?>=<<

�>DG6=>EFL ??5G4

OMRON connect 4 ?D<?>65=<5 4?O 

?D>E<>FD4 <7<5D5=<= =4 <>5<?L=>< 

GEFD>=EF65.

�44?564M4O GF<?<74F<O ?D<5>D4
(>FD45>F4==>5 M?5>FD<G5E>>5 < M?5>FD>==>5 

>5>DG4>64=<5)

-F>F E<<6>? =4 ?D<5>D5 <?< >?<E4=<< > =5<G G>47O645F, GF> 

44==O= ?D<5>D =5 ?>4?56<F GF<?<74F<< 6<5EF5 E 4DG7<<< 

4><4L=<<< >FE>44<< ?> >>>=G4=<< ED>>4 E?G65O. 'F>5O 

?D54>F6D4F<FL 6>7<>6=O= GM5D5 4?O >>DG64NM5= ED54O <?< 

74>D>6LO G5?>65>4 6E?54EF6<5 =5>>=FD>?<DG5<>= GF<?<74F<< 

>FE>4>6, ?>64?G=EF4, >F45?<F5 MF> <745?<5 >F 4DG7<E F<?>6 
>FE>4>6 < GF<?<7<DG=F5 57> =44?564M<< >5D47>< 4?O D4F<>=4?L=>7> 

?>6F>D=>7> <E?>?L7>64=<O <4F5D<4?L=OE D5EGDE>6.

�><4L=<< ?>FD55<F5?O< E?54G5F E6O74FLEO E D>7=<G=O< F>D7>6O< 

?D54EF46<F5?5<, G >>F>D>7> 5O? ?D<>5D5F5= ?D<5>D, <?< 65 E <5EF=O< 

>D74=>< 6?4EF< 4?O ?>?GG5=<O ?>4D>5=>= <=D>D<4F<< > F><, >G44 < >4> 
<>6=> 65D=GFL 44==O= ?D<5>D 4?O M>>?>7<G5E>< 557>?4E=>= ?5D5D45>F><.

�D><OL?5==O< ?>FD55<F5?O< =44?56<F E6O74FLEO E ?>EF46M<>>< < 

?D>65D<FL ED>>< < GE?>6<O >>=FD4>F4 =4 74>G?>G. �4==O= ?D<5>D =5 E?54G5F 
GF<?<7<D>64FL E>6<5EF=> E 4DG7<<< >><<5DG5E><<< >FE>44<<. 

IP XX

,

,

,

'&�����&�/ 

�> >>>=G4=<< ED>>4 E?G65O <745?<O, 57> =5>5E>4<<> GF<?<7<D>64FL 6 
E>>F65FEF6<< E =4F<>=4?L=O<< < D57<>=4?L=O<< =>D<4F<6=O<< 4>F4<<. 

�  <54<F<=E><E GGD5645=<OE, 6 E>>F65FEF6<< E FD55>64=<O<< %4=�<� 

2.1.3684-21 «%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > E>45D64=<N 

F5DD<F>D<= 7>D>4E><E < E5?LE><E ?>E5?5=<=, > 6>4=O< >5N5>F4<, ?<FL56>= 6>45 < 

?<FL56><G 6>4>E=4565=<N =4E5?5=<O, 4F<>ED5D=><G 6>74GEG, ?>G64<, 6<?O< 

?><5M5=<O<, M>E??G4F4F<< ?D><76>4EF65==OE, >5M5EF65==OE ?><5M5=<=, 

>D74=<74F<< < ?D>6545=<N E4=<F4D=>-?D>F<6>M?<45<<G5E><E 
(?D>D<?4>F<G5E><E) <5D>?D<OF<=» <745?<5 ?>4?56<F GF<?<74F<< >4> <745?<5 

>?4EE4 � E>7?4E=> FD55>64=<O< %4=<F4D=OE ?D46<?, ?D54NO6?O5<OE > 
>5D4M5=<N E F65D4O< >><<G=4?L=O< >FE>44<.

�> 6>?D>EG GF<?<74F<< M?5<5=F>6 ?<F4=<O >5D4F<F5EL 6 E?5F<4?<7<D>64==O5 

?G=>FO ?D<5<4, D4E?>?>65==O5 6 �4L5< 7>D>45, <?< > <5EF=O< >D74=4< 6?4EF< 

4?O ?>?GG5=<O ?>4D>5=>= <=D>D<4F<< > F><, >G44 < >4> 65D=GFL 54F4D5< 4?O 

M>>?>7<G5E>< 557>?4E=>= ?5D5D45>F><.

�7<5D<F5?< 4DF5D<4?L=>7> 446?5=<O < G4EF>FO ?G?LE4 OMRON 

<E?OF4=O < 74D57<EFD<D>64=O 6 $>EE<<:

- D57<EFD4F<>==>5 G4>EF>65D5=<5: 7 $%� 2009/04435 >F 05.07.2021. %D>> 
45=EF6<O =5 >7D4=<G5=.

- 45>?4D4F<O > E>>F65FEF6<< &$ &% 020/2011 «-?5>FD><47=<F=4O 

E>6<5EF<<>EFL F5E=<G5E><E ED54EF6» 7 ��-% N RU �-JP.$�01.�.14879/21. 

%D>> 45=EF6<O 4> 26.08.2026.

- E6<45F5?LEF6> >5 GF65D645=<< F<?4 ED54EF6 <7<5D5=<= �%.%.39.003.� 

7 78216. %D>> 45=EF6<O 4> 11.09.2025.

����$��

�>>G<5=F 4?O ?>65D><: P 1323565.2.001-2018. �56?>65D>G=O= <=F5D64? 2 7>44.

�=4> GF65D645=<O F<?4 =4=>E<FEO =4 E>?D>6>4<F5?L=O5 4>>G<5=FO. 

%>7?4E=> ?G=>FG 4 EF4FL< 13 $545D4?L=>7> 74>>=4 7 102-$� 

«�5 >55E?5G5=<< 54<=EF64 <7<5D5=<=» D57G?LF4FO ?>65D>< ?>4F65D644NFEO 

E6545=<O<< > D57G?LF4F4E ?>65D><, 6>?NG5==O<< 6 $545D4?L=O= 

<=D>D<4F<>==O= D>=4 ?> >55E?5G5=<N 54<=EF64 <7<5D5=<=. 

�>4F65D645=<5 ?D>E>645=<O ?D>F54GDO ?>65D>< �O F4>65 <>65F5 =4=F< =4 

E4=F5: www.csmedica.ru ?> =4<<5=>64=<N, <>45?< < E5D<==><G =><5DG 
?D<5>D4.

�46=4O <=D>D<4F<O >5 M?5>FD><47=<F=>= E>6<5EF<<>EF< (-�%)

�D<5>D M2 Comfort (ALRU), ?D><76545==O= >><?4=<5= OMRON 

HEALTHCARE Co., Ltd., G4>6?5F6>DO5F FD55>64=<O< EF4=44DF4 

M?5>FD><47=<F=>= E>6<5EF<<>EF< (-�%) EN60601-1-2:2015.

&5< =5 <5=55, E?54G5F E>5?N44FL E?5F<4?L=O5 <5DO ?D54>EF>D>6=>EF<:

� �E?>?L7>64=<5 6E?><>74F5?L=OE ?D<=44?56=>EF5= < >455?5=, >F?<G=OE >F 
G>474==OE <?< ?>EF46?O5<OE >><?4=<5= OMRON, <>65F ?D<65EF< > 
G65?<G5=<N M?5>FD><47=<F=>7> <7?GG5=<O <?< G<5=LL5=<N 

M?5>FD><47=<F=>= GEF>=G<6>EF< GEFD>=EF64 < 6O764FL =5?>?44>< 6 57> 

D45>F5.

� �> 6D5<O <7<5D5=<O =5 E?54G5F <E?>?L7>64FL GEFD>=EF6> DO4>< E 4DG7<< 

GEFD>=EF6>< <?< ?>65DE =57>, ?>E>>?L>G MF> <>65F ?D<65EF< > =5?>?44>4< 6 

D45>F5. �E?< ?>4>5=>5 <E?>?L7>64=<5 =5>5E>4<<>, 74 MF<< GEFD>=EF6>< < 

4DG7<< GEFD>=EF6>< E?54G5F =45?N44FL < ?D>65DOFL ?D46<?L=>EFL <E 
D45>FO.

� �> 6D5<O <7<5D5=<O ?>DF4F<6=O5 D44<>G4EF>F=O5 ED54EF64 E6O7< (6>?NG4O 

F4><5 ?5D<D5D<==O5 GEFD>=EF64, >4> >455?< 4=F5== < 6=5L=<5 4=F5==O) 

4>?6=O <E?>?L7>64FLEO =5 5?<65 30 E< >F ?N5>= G4EF< GEFD>=EF64, 6>?NG4O 

>455?<, G>474==O5 >><?4=<5= OMRON. �56O?>?=5=<5 MF>7> FD55>64=<O 

<>65F ?D<65EF< > GEG4L5=<N D45>FO GEFD>=EF64.

� �<65 E<. 44?L=5=L<5 G>474=<O >F=>E<F5?L=> ED54O -�%, 6 >>F>D>= 

E?54G5F <E?>?L7>64FL GEFD>=EF6>.

�D<7=4> �>D<O =4 ���''���� %>>F65FEF6<5

�>=4G>F<6=>5 < 
M<<EE<>==>5 
$$-���''����

CISPR 11 �DG??41, >?4EE B

�>?554=<O =4?DO65=<O < 
<5DF4NM55 <7?GG5=<5

%<. IEC 61000-3-3 %>>F65FEF6<5

�D<7=4> �E=>6=>= EF4=44DF 
-�% '$���� &�%&� �� '%&��'���%&,

-?5>FD>EF4F<G5E><= 
D47DO4

IEC 61000-4-2 �>=F4>F=O= ±8 >�
�>74GL=O= ±2 >�, ±4 >�, ±8 >�, ±15 >� 
4?O ?>DF4 >>D?GE4

�7?GG45<O5 
D44<>G4EF>F=O5 
M?5>FD><47=<F=O5 
?>?O

IEC 61000-4-3 10 �/<
80 ��F 3 2,7 ��F
80% AM ?D< 1 >�F 4?O ?>DF4 >>D?GE4

�>?O 6 5?<6=5= 
7>=5, <7?GG45<O5 
$'->5>DG4>64=<5< 
55E?D>6>4=>= E6O7<

IEC 61000-4-3 %<. F45?<FG 3

'EF>=G<6>EFL > 
=4=>E5>G=4=O< 
M?5>FD<G5E><< 
<<?G?LE=O< 
?><5E4<

IEC 61000-4-4 ±2 >� 4?O 6E>4=>7> ?>DF4 ?<F4=<O 
?5D5<5==>7> F>>4 E G4EF>F>= 100 >�F

�O5D>EO <564G 
46G<O ?<=5==O<< 
?D>6>4=<>4<< 6 
F>G>5 E5F<

IEC 61000-4-5 ±0,5 >� ±1 >� 4?O 6E>4=>7> ?>DF4 
?<F4=<O ?5D5<5==>7> F>>4

�>=4G>F<6=O5 
?><5E<, 6O7O645<O5 
$'-?>?O<<

IEC 61000-4-6 3 � ED. >6. 7=4G.
150 >�F 4 80 ��F
%D54=5>644D4F<G5E>>5 =4?DO65=<5 
6 � 6 4<4?47>=5 G4EF>F ISM < 
?N5<F5?LE>>= D44<>E6O7< >F 150 >�F 
4> 80 ��F
80% AM ?D< 1 >�F 4?O 6E>4=>7> ?>DF4 
?<F4=<O ?5D5<5==>7> F>>4

�47=<F=O5 ?>?O E 
=><<=4?L=>= 
G4EF>F>= ?<F4NM5= 
E5F<

IEC 61000-4-8 30 �/<, 50 �F < 60 �F 
4?O ?>DF4 >>D?GE4

�445=<O =4?DO65=<O IEC 61000-4-11 0% UT; 0,5 F<>?4 ?D< 
0°, 45°, 90°, 135°, 180°, 225°, 270° < 
315° 4?O 6E>4=>7> ?>DF4 ?<F4=<O 
?5D5<5==>7> F>>4

0% UT; 1 F<>? < 70% UT; 
25/30 >4=>D47=OE F<>?>6: ?D< 0° 4?O 
6E>4=>7> ?>DF4 ?<F4=<O ?5D5<5==>7> 
F>>4

�D5DO64=<O 
=4?DO65=<O

IEC 61000-4-11 0% UT; 250/300 F<>?>6 4?O 6E>4=>7> 
?>DF4 ?<F4=<O ?5D5<5==>7> F>>4

�D<<5G4=<5. UT ?D54EF46?O5F E>5>= =4?DO65=<5 ?5D5<5==>7> F>>4 4> 
?D<<5=5=<O >>=FD>?L=>7> GD>6=O.

'4EF>F4 
F5EF4 
(��F)

�<4?47>= 
G4EF>F (��F)

�5E?G6<64-
=<5 �>4G?OF<O

�4>E<-
<4?L=4O 
<>M-

=>EFL (�F)

$4EEF>-
O=<5 (<)

'$����, 
&�%&� �� 
'%&��'�-
��%&,
(�/<)

385 3804390 TETRA 400
�<?G?L-
E=4O <>4G-
?OF<O 18 �F

1,8 0,3 27

450 4304470
GMRS 460, 

FRS 460

FM: >F>?>-
=5=<5 ± 

5 >�F, E<=G-
E><44?L-
=O= E<7=4?: 

1 >�F

2 0,3 28

710

7044787
�<4?47>= 
G4EF>F LTE

13, 17

�<?G?L-
E=4O <>4G-
?OF<O 
217 �F

0,2 0,3 9745

780

810

8004960

GSM 
800/900,

TETRA 800,
iDEN 820,

CDMA 850,
�<4?47>= 
G4EF>F LTE 5

�<?G?L-
E=4O <>4G-
?OF<O 18 �F

2 0,3 28
870

930

1720

170041990

GSM 1800;
CDMA 1900;
GSM 1900;

DECT;
�<4?47>= 

G4EF>F LTE 1,
3, 4, 25;
UMTS

�<?G?L-
E=4O <>4G-
?OF<O 
217 �F

2 0,3 281845

1970

2450 240042570

Bluetooth,
WLAN,

802.11 b/g/n,
RFID 2450,
�<4?47>= 
G4EF>F LTE 7

�<?G?L-
E=4O <>4G-
?OF<O 
217 �F

2 0,3 28

5240

510045800
WLAN 

802.11 a/n

�<?G?L-
E=4O <>4G-
?OF<O 
217 �F

0,2 0,3 95500

5785

�D><76>4<F5?L OMRON HEALTHCARE Co., Ltd. 

(��$�� %-�%�-� �>., �F4.)

53, Kunotsubo, Terado-cho, Muko, KYOTO,

617-0002 JAPAN

(53, �G=>FEG5>, &5D44>-G>, �G>>, ���&�,

617-0002 /����/)

�D54EF46<F5?L 

6 �%
OMRON HEALTHCARE EUROPE B.V.

��$�� %-�%�-� ��$��� �.�.)

Scorpius 33, 2132 LR Hoofddorp, THE NETHERLANDS

(%>>D?<GE 33, 2132 �$ %GD44>D?, ����$����/)

www.omron-healthcare.com

�<?>DF5D 6 �%
�D><76>4EF65==>5 

?>4D4745?5=<5
OMRON HEALTHCARE MANUFACTURING VIETNAM CO., LTD.

(��$�� %-�%�-� ���'$-�&'$��� �,�&��� ��., �&�.)

No.28 VSIP II, Street 2, Vietnam-Singapore Industrial Park II,

Binh Duong Industry-Services-Urban Complex, Hoa Phu Ward,

Thu Dau Mot City, Binh Duong Province, Vietnam

(No.28 �%�� II, %FD<F 2, �L5F=4<-%<=74?GD �=44EFD<4? �4D> II,
�<=L �G>=7 �=44EFD<-%5D6<E-'D54= �><??5>E, %>4 $G �4D4,

&EG �4G �>F %<F<, �<=L �G>=7 �D>6<=E, �L5F=4<)

'?>?=><>G5==O= 

?D54EF46<F5?L 

?D><76>4<F5?O, 

M>E>?N7<6=O= 

4<EFD<5LNF>D < 

<<?>DF5D 

<54<F<=E>>= 

F5E=<>< OMRON =4 

F5DD<F>D<< 

$>EE<=E>>= 

$545D4F<<

�� "�><??5>F%5D6<E"

125413, 7. �>E>64, G?. %>?=5G=>7>DE>4O, 4. 4, EFD. 10,

<4=E4D44
www.csmedica.ru

�5E??4F=4O 7>DOG4O ?<=<O: 8-800-555-00-80

�D<<5D: >>?554=<5 6 F5G5=<5 4=O (<G6G<=4, 35 ?5F)
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